. Do g
Geometry ~ Area & Perimeter

1. Plot triangle ABC with the following veltlces A4, -1), B(1,3), C(5,6).
Perimeter: P = s + s2 + s3 = Y bh

AB=\/(1 —®H)*+(3 —-1)?  BC=y(5 - 1) +(t -3)’
=V(3) + (Y )? = (g + (3 7
=J()+(w)=Vzs =5 =J0p)+@q )=V 25 =5

AC= (54 )2+(b —1)?
=JC1)2+(7)?
=J/(1)+Ha=Vvop ®5U2 % 7.1

Name

[ a. Find the perimeter of the given

triangle.
5 +5 +U50

5+5+65U2
10+6U 2_

;

b. Find the area of the given triangle.
AB) )

o

| 2. Plot triangle ABC with the following vertices: A(-2, 4), B(-2, -2), C(3, 4)

AB={@-AD’+@ ~4) BC=y(3 -D’+(4 —2)
=J(0)2+ (¥ )? =/(5)+ (6 )
=[0I+ (@) =V306 = =V@5)+(30)=Vy| =17.8

AC= (? 2+ (4 —4)*
=J(%)2+(0)?
=/(25)+(p0 )=V26 = 5

a. Find the perimeter of the given
triangle.

b+5+VGl = L +Uo]

b. Find the area of the given triangle.
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AD=V(2-)+(#-8)7 AB=J(F -2+ ( 2= B2 =1
= V(42 + (#)? = (2.0 + (27
=\/(uo)+(lb)=‘~/32qffz =~/(4)+(4 =V'3 = W3
231
Rhombus: Perimeter: P = 4s Area = %d;d,
5. Perimeter =
;'2 F=(1, H=(9,2) Wi
1, X ol
.' G=(51)
............ Area =
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Wx= (-T2 + (| )
=V (~4)%+ (=3 )2
=\/(u,)+( q)=V g =&

Perimeter =

(s 4) =20

G 1)

24

Squares: Perimeter: P = 4s Area = s2

8.

EF=J(§—-2?+(2-4)’
=J(()*+(2)’
= /(3 + )=V yp — AUI0OX (4.3

Perimeter =

y(avig) = EUIO
4(h-3)2 25.2

Area =

(avtD)*
( 4V100)
(#010) =40

9.

o .»(ll, 8)

Perimeter =

4(I53) = HU53
xX29.2

Area =

(15%)* = 53




